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Q.1  Multiple choice questions. Choose the correct answer.
2
M (27x')>? (U.B)
3f..2 3
{7 =
(0 (d)
8 8
(i)  Write {x in the exponential form (U.B)
(@) x (b) X’
1 i
(c) x7 (d) x2
2
(iii) Write 4° with radical sing (U.B)
(@) 4> (b) /4
(© 4 (d) V4°
(ivy In 35 the radicand is; (K.B)
1
(@3 (b) 3
(c) 35 (d) None
1
25) 2
\4 — | = K.B
o (B - (K.B)
5 4
() i (b) 5
5 4
i = | e
(9 y (d :
(vi)  The conjugate of 5+4i is (K.B)
(@) -5+4i (b) -5-4i
(c) 5-4i (d) 5+4i
(vii)  The value of i’ is; (U.B)
(@)1 (b) -1
Qi (d) —i
(viii) Every real number is (K.B)
(a) Positive integer (b) A rational number
(c) A negative integer (d) A complex number
(ix)  Real point of 2ab(i+i2) is (A.B)
(a) 2ab (b) —2ab
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(¢) 2abi (d) —2abi
(x)  Imaginary part of —i(3i+2) is (A.B)
(@) -2 (b) 2
(03 (d)-3
(xi)  Which of the following sets have the closure property w.r.t addition? (K.B)
(a) {0} ®) (0.1
© {0.1] (@) {1,\/5,%}
(xii) Name the property of real number used in {—%} x]l=—— (K.B)
(a) Additive identity (b) Additive inverse
(c) Multiplicative identity (d) Multiplicative inverse
(xiii) If x,y,z€eR,z<0, then x<y—=>... (K.B)
(@) xz< yz (b) xz> yz
(c) xz=yz (d) None of these
(xiv) IF a,be € R, onlyoneof a=b or a<b or a>b hold is called (K.B)
(a) Trichotomy property (b) Transitive property
(c)Additive property (d) Multiplicative property
(xv) A non-terminating, non-recurring decimal represents ... (K.B)
(a) A natural number (b) A rational number
(c) An irrational number (d) A prime number
ANSWER KEY|
a i e a
C C c
a d b
C b a
b a c
Q.2 True or False? Identity
(i) Division is not an associative operation. True (K.B)
(ii)  Every whale number is a natural number. False (K.B)
(iii) Multiplicative inverse of 0.02 is 50. True (K.B)
(iv)  « is rational number. False (K.B)
(v)  Every integer is a rational number. True (K.B)
(vi)  Subtraction is a commutative operation. False (K.B)
(vil) Every real number is a rational number. False (K.B)
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(viii) Decimal representation of a rational number is either terminating or recurring.
True (K.B)
(ix) 1.§=1+g True (K.B)
Q.3  Simplify the following ( T ) 1 a
={x"" .y "z Ww—=a
Q) 48y (A.B) & @
Solution: 5 510\
3y (20
={3y"x P ! 1 2 1
| 31 o] :xxxgx mgxzyj K “*(ab)" =a"b"
Ax— AT = ATk y 4
:3 (Jy A‘X A '.'(ab)nza"b" “xyz2
s 3y—3x—2 .
3,4,5 |5
B T | o -
ysxz a" X Ey 1,75
- 3 2
= §8ly #x?® = 54, )5
& yx* (iv) (732}{ 4y jJ (A.B)
(i) 25y (A.B) eox
. Solution:
Solution: 2
(BWP 2019, SWL 2015, D.G.K 2014, FSD 2021) 25 x4y 42\5
_ 10n _ 8m = # (Factorization)
=255y S'X'yz
= 2
:(52 anygm)2 = | 252]+4 : . a” =g™"
o . 1 G
=5 2x *y #*%i(ab)lah - }:
— stn.y4m . (am )n =q™ = 2525 :|g
4 ..10..5
10 8m _ sn ,4m _5 X y ;
= 4J25x 7y =bx"y P
XE XE - =
Method II __ 2 " xz ..[EJ _a
— . 2owhE g2 b)) b
/25x10ny8m _ \j52 (X‘" )2 (yzlm )Z 54 5xx A Xy 5
: 22 Xzz m\" mn
=\(5x"y*")" = (ab)' =a'd’ N (a") =a
5'xx"xy
=5yt Q/aT = 472
10 .8m _ 5n . 4m :L_%i
= 425x7y _5xl.y 555 x x4y
. xli 4ZS g 422
(iii) {# (A.B) =——
X ¥z 5 5xx'y?
(BWP 2017, RWP 2014, MTN 2014, SGD 2018)
Solution:
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422 a" m-n o e o a’ " -r
Se—— = - a Q.5 —=| %= +5(»::r"’ar)P
5x 55 X4y2 a a
DI (A.B)
[32)( 4y i J s 432 Solution:
625X yZ 5)( 55 X4y2 ) (Gp—q)f""q (aq—f )Q"'r - am B am_n
2 1 - p-r TR
E Tl 5(a™ a
216)3 x(25)2
Q4 simplity [Z1OPX(BN 4 g )

a{p—q](p+q} s a{q—r](qH’}

T ggre ) v (a") =a™

3. 3.3
GP q Xﬂq T

‘» (a+b)(a—b)=a’>-b’

SGPE_FZ
2 2 2 2
pr—q+q -r
_G ,_amxan_am:—n
5a” " .
i
" ap r P +r . am B n
< 5 T a" -4
0
_a
5
g
p+q q+r
g a’ g \PT
= — ] TS(a a )
a’ a’
1
5

a

= 53—1 an = an—m

oy (A.B)

62
— 5—2

Solution:
6 2 GZF a2m a2n
- g af+n: am+n an+l’
6

= g e ya" =a — aZI—I—m XaZm—m—n XaZn—n—F . a” =q™"
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Lo a!—m « am—n % an—f = 1

= aI—m+m—n+n—I . a:n XG” = a:n+n - aEi aZm a2n 3
- a(] a!+m am+n an+2
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1 n n
. . ’ a ’a , a

Q.7 Simplify 3 —¥j— %~
a a a

Solution:

m

3f i-m 3 _m-n 3f n-i a =
:,\ilaim{/amn3an o :amn
a

n

1 1

(af—m )5 s¢ (am—rr )5 ¢ (an—: )3 . Q/’E L

I-m m—n l—_f

—a? xa ?® xa?

I=m m-n n-I
=ﬂ3 3 ,‘amxan:amﬂl
[-m+m-n+n-1
=a 3
0
= (]'3
— GU
=1
aI ain arr
= 3— x 3 < e =1
a” a" a
Method I1

i m n
3 a w 3 M x 3 a_j
a” a" a

I n n
:3a]><arn)(a— '."Q/E)(r\llgzda_b

arr a aﬂ

(A.B)

m
%/al—m Xam—ﬂ ><|:Irr—.r o a = am—rr
n
a
sz 3,ai—m—rn—n+n—f . am XG” :am+n - 3 aﬂ
=1 - a’=1
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